



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BBA (Honours) 7th Semester Section-A Session: Autumn 2025

Registration #	Name	ACT122					DMKT-405					FIN-451					FIN-452					FIN-453					FIN-476				
		Financial Accounting					Customer Relationship Management in Digital Age					Corporate Finance					Financial Risk Management					Financial Statment Analysis					Financial Econometrics				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BBA/A-20/M/A/1540	Safiullah Rafique (Summer 2025 A	-	-	-	-	57	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-20/M/B/1572	Abdul Salam Abbasi	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-20/M/B/1581	Haider Ali	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-20/M/C/1668	Badar Hanif (Fee Defaulter)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-20/M/C/1682	Mamoon Ahmed(Withheld due to F	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-20/M/D/1735	Ahmer Nawaz (Fee Defaulter)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-20/M/F/1915	Tamour Tahir	74	B	3.0	3	9.0	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-21/M/A/513	Javed Khadim(Withheld due to Fee	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-21/M/A/525	Muhammad Saad Raza	-	-	-	-	-	-	-	-	-	-	F	-	3	-	62	C	2.0	3	6.0	63	C	2.0	3	6.0	62	C	2.0	3	6.0	
IS/BBA/A-21/M/B/565	Haider Ali Qureshi (Fee Defaulter)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/001	Adeel Hassan Joyia	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/002	Aleena Ashraf	74	B	3.0	3	9.0	-	-	-	-	70	B	3.0	3	9.0	65	C+	2.5	3	7.5	67	C+	2.5	3	7.5	65	C+	2.5	3	7.5	
IS/BBA/A-22/M/A/004	Anees Ur Rehman	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	80	A	4.0	3	12.0	62	C	2.0	3	6.0	67	C+	2.5	3	7.5	
IS/BBA/A-22/M/A/006	Dilawar Hassan (Fee Defaulter)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/009	Ijaz Ullah	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	81	A	4.0	3	12.0	60	C	2.0	3	6.0	61	C	2.0	3	6.0	
IS/BBA/A-22/M/A/010	Mehar Nighar	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/013	Muhammad Hussain	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/014	Muhammad Ibrahim	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	72	B	3.0	3	9.0	50	D	1.5	3	4.5	55	C	2.0	3	6.0	
IS/BBA/A-22/M/A/016	Muhammad Izhar Ilyas (Fee Defau	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/019	Muqaddas Abid	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/020	Muzammil Shahid	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	71	B	3.0	3	9.0	85	A	4.0	3	12.0	60	C	2.0	3	6.0	
IS/BBA/A-22/M/A/021	Neelofar Saleem	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/023	Rabbia Zafran	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/024	Saba Kanwal	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/026	Samia Ikhtiar	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/027	Shamiam Fatima	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/028	Siraj Saeed	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	67	C+	2.5	3	7.5	59	C	2.0	3	6.0	66	C+	2.5	3	7.5	
IS/BBA/A-22/M/A/029	Syed Abdul Halem	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	50	D	1.5	3	4.5	37	F	-	3	-	56	C	2.0	3	6.0	
IS/BBA/A-22/M/A/032	Tasdiq Hussain	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date:



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BBA (Honours) 7th Semester Section-A Session: Autumn 2025

		GEN-241					HRM 413					HRM-450					HRM-453					HRM604					HRM-610				
		Entrepreneurship					HRM in Global Business Management					Recruitment and Selection					Performance Management					Performance Management					Recruitment and Selection				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BBA/A-20/M/A/1540	Safiullah Rafique (Summer 2025 A)	85	A	4.0	2	8.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-20/M/B/1572	Abdul Salam Abbasi	65	C+	2.5	2	5.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-20/M/B/1581	Haider Ali	55	C	2.0	2	4.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-20/M/C/1668	Badar Hanif (Fee Defaulter)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-20/M/C/1682	Mamoon Ahmed(Withheld due to F	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-20/M/D/1735	Ahmer Nawaz (Fee Defaulter)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-20/M/F/1915	Tamour Tahir	58	C	2.0	2	4.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-21/M/A/513	Javed Khadim(Withheld due to Fee	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-21/M/A/525	Muhammad Saad Raza	70	B	3.0	2	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-21/M/B/565	Haider Ali Qureshi (Fee Defaulter)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/001	Adeel Hassan Joyia	75	B+	3.5	2	7.0	84	A	4.0	3	12.0	84	A	4.0	3	12.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/002	Aleena Ashraf	59	C	2.0	2	4.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/004	Anees Ur Rehman	80	A	4.0	2	8.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/006	Dilawar Hassan (Fee Defaulter)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/009	Ijaz Ullah	75	B+	3.5	2	7.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/010	Mehar Nighar	70	B	3.0	2	6.0	75	B+	3.5	3	10.5	84	A	4.0	3	12.0	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/013	Muhammad Hussain	59	C	2.0	2	4.0	80	A	4.0	3	12.0	80	A	4.0	3	12.0	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/014	Muhammad Ibrahim	59	C	2.0	2	4.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/016	Muhammad Izhar Ilyas (Fee Defau	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/019	Muqaddas Abid	75	B+	3.5	2	7.0	87	A	4.0	3	12.0	80	A	4.0	3	12.0	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/020	Muzammil Shahid	70	B	3.0	2	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/021	Neelofar Saleem	76	B+	3.5	2	7.0	88	A	4.0	3	12.0	80	A	4.0	3	12.0	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/023	Rabbia Zafran	55	C	2.0	2	4.0	76	B+	3.5	3	10.5	85	A	4.0	3	12.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/024	Saba Kanwal	75	B+	3.5	2	7.0	87	A	4.0	3	12.0	81	A	4.0	3	12.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/026	Samia Ikhtiar	70	B	3.0	2	6.0	84	A	4.0	3	12.0	80	A	4.0	3	12.0	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/027	Shamiam Fatima	65	C+	2.5	2	5.0	88	A	4.0	3	12.0	80	A	4.0	3	12.0	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/028	Siraj Saeed	56	C	2.0	2	4.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/029	Syed Abdul Halem	58	C	2.0	2	4.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/032	Tasdiq Hussain	50	D	1.5	2	3.0	44	F	-	3	-	50	D	1.5	3	4.5	51	D	1.5	3	4.5	-	-	-	-	-	-	-	-		

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date:



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BBA (Honours) 7th Semester Section-A Session: Autumn 2025

		MGT112					MGT-350					MGT354					MGT363					MGT366					MKT 416				
		Business English					Organizational Development					Business Research Methodology					Small and Medium Enterprise Management					Production and Operation Management					Marketing Management of Online Platforms				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BBA/A-20/M/A/1540	Safiullah Rafique (Summer 2025 A	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	
IS/BBA/A-20/M/B/1572	Abdul Salam Abbasi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	
IS/BBA/A-20/M/B/1581	Haider Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	
IS/BBA/A-20/M/C/1668	Badar Hanif (Fee Defaulter)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-20/M/C/1682	Mamoon Ahmed(Withheld due to F	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-20/M/D/1735	Ahmer Nawaz (Fee Defaulter)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-20/M/F/1915	Tamour Tahir	-	-	-	-	-	-	-	-	-	-	-	-	-	-	14	F	-	3	-	-	-	-	-	-	10	F	-	3	-	
IS/BBA/A-21/M/A/513	Javed Khadim(Withheld due to Fee	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-21/M/A/525	Muhammad Saad Raza	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-21/M/B/565	Haider Ali Qureshi (Fee Defaulter)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/A/001	Adeel Hassan Joyia	-	-	-	-	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/A/002	Aleena Ashraf	74	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
IS/BBA/A-22/M/A/004	Anees Ur Rehman	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/A/006	Dilawar Hassan (Fee Defaulter)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/A/009	Ijaz Ullah	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/A/010	Mehar Nighar	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/A/013	Muhammad Hussain	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/A/014	Muhammad Ibrahim	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/A/016	Muhammad Izhar Ilyas (Fee Defau	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/A/019	Muqaddas Abid	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/A/020	Muzammil Shahid	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/A/021	Neelofar Saleem	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/A/023	Rabbia Zafran	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/A/024	Saba Kanwal	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/A/026	Samia Ikhtiar	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/A/027	Shamiam Fatima	-	-	-	-	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/A/028	Siraj Saeed	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/A/029	Syed Abdul Halem	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/A/032	Tasdiq Hussain	-	-	-	-	32	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date:



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BBA (Honours) 7th Semester Section-A Session: Autumn 2025

		MKT-403					MKT-404					MKT416					PM473				
		Consumer Behavior					Marketing Research and Analysis					Principles of Marketing					Project Management				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BBA/A-20/M/A/1540	Safiullah Rafique (Summer 2025 A)	56	C	2.0	3	6.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	
IS/BBA/A-20/M/B/1572	Abdul Salam Abbasi	59	C	2.0	3	6.0	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-		
IS/BBA/A-20/M/B/1581	Haider Ali	50	D	1.5	3	4.5	27	F	-	3	-	-	-	-	-	-	-	-	-		
IS/BBA/A-20/M/C/1668	Badar Hanif (Fee Defaulter)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-20/M/C/1682	Mamoon Ahmed (Withheld due to F)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-20/M/D/1735	Ahmer Nawaz (Fee Defaulter)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-20/M/F/1915	Tamour Tahir	-	F	-	3	-	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-		
IS/BBA/A-21/M/A/513	Javed Khadim (Withheld due to Fee)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-21/M/A/525	Muhammad Saad Raza	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-21/M/B/565	Haider Ali Qureshi (Fee Defaulter)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/001	Adeel Hassan Joyia	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/002	Aleena Ashraf	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/004	Anees Ur Rehman	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/006	Dilawar Hassan (Fee Defaulter)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/009	Ijaz Ullah	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/010	Mehar Nighar	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/013	Muhammad Hussain	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/014	Muhammad Ibrahim	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/016	Muhammad Izhar Ilyas (Fee Defau)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/019	Muqaddas Abid	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/020	Muzammil Shahid	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/021	Neelofar Saleem	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/023	Rabbia Zafran	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/024	Saba Kanwal	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/026	Samia Ikhtiar	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/027	Shamiam Fatima	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/028	Siraj Saeed	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/029	Syed Abdul Halem	-	-	-	-	-	-	-	-	-	-	-	-	-	34	F	-	3	-		
IS/BBA/A-22/M/A/032	Tasdiq Hussain	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date:



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
BBA (Honours) 7th Semester Section-A Session: Autumn 2025

Registration #	Name	ACT122					DMKT-405					FIN-451					FIN-452					FIN-453					FIN-476				
		Financial Accounting					Customer Relationship Management in Digital Age					Corporate Finance					Financial Risk Management					Financial Statement Analysis					Financial Econometrics				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BBA/A-22/M/A/033	Tayyab Islam	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-22/M/A/004	Anmol Heera	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	65	C+	2.5	3	7.5	51	D	1.5	3	4.5	61	C	2.0	3	6.0	
IS/BBA/S-22/M/A/019	Muhammad Zeeshan Rashid	-	-	-	-	-	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-22/M/B/076	Syed Ali Raza Bukhari	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date:



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
BBA (Honours) 7th Semester Section-A Session: Autumn 2025

		GEN-241					HRM 413					HRM-450					HRM-453					HRM604					HRM-610				
		Entrepreneurship					HRM in Global Business Management					Recruitment and Selection					Performance Management					Performance Management					Recruitment and Selection				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BBA/A-22/M/A/033	Tayyab Islam	57	C	2.0	2	4.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-22/M/A/004	Anmol Heera	57	C	2.0	2	4.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-22/M/A/019	Muhammad Zeeshan Rashid	-	F	-	2	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-22/M/B/076	Syed Ali Raza Bukhari	65	C+	2.5	2	5.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
 Controller of Exams

Result declaration date:



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
BBA (Honours) 7th Semester Section-A Session: Autumn 2025

		MGT112					MGT-350					MGT354					MGT363					MGT366					MKT 416								
		Business English					Organizational Development					Business Research Methodology					Small and Medium Enterprise Management					Production and Operation Management					Marketing Management of Online Platforms								
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product				
IS/BBA/A-22/M/A/033	Tayyab Islam	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5
IS/BBA/S-22/M/A/004	Anmol Heera	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-22/M/A/019	Muhammad Zeeshan Rashid	-	-	-	-	-	-	-	-	-	30	F	-	3	-	-	-	-	-	-	9	F	-	3	-	-	-	-	30	F	-	3	-		
IS/BBA/S-22/M/B/076	Syed Ali Raza Bukhari	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	36	F	-	3	-		

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
 Controller of Exams

Result declaration date:



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
BBA (Honours) 7th Semester Section-A Session: Autumn 2025

		MKT-403					MKT-404					MKT416					PM473					
		Consumer Behavior					Marketing Research and Analysis					Principles of Marketing					Project Management					
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	
IS/BBA/A-22/M/A/033	Tayyab Islam	70	B	3.0	3	9.0	89	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-22/M/A/004	Anmol Heera	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-22/M/A/019	Muhammad Zeeshan Rashid	13	F	-	3	-	33	F	-	3	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-22/M/B/076	Syed Ali Raza Bukhari	70	B	3.0	3	9.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: